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RRFBRICRDIREEEZRKR
(—RXRAER FEEHERT)

ZBIEZEZR(NO,) R IR E (SPM) FALFEFF A4 ROy)
HEHED SEZD REX4(Z REDNH
wr | FTHIE =3 s | FTHIE 2%[;@% £/ ilzif}JﬁE’C“ B DY Bl+3 &E 1RHEIE | g
98%{iE X1 - 0.10mg/m°H 2B KL L FEH(E FEHIE X3
’ EL-CEDAE '
ppm mg/m® R# | B8 ppm
R3 0.010 0.021 @) 0.014 0.036 i3 @) O 0.035 0.050 X
R2 0.010 0.025 @) 0.017 0.043 i3 @) @) 0.035 0.050 X
R1 0.011 0.023 @) 0.016 0.039 i3 @) @) 0.034 0.050 X
H30 0.011 0.026 @) 0.019 0.05 i3 @) @) 0.034 0.050 X
H29 0.013 0.025 @) 0.017 0.037 i3 @) @) 0.035 0.051 X
H28 0.014 0.028 @) 0.016 0.036 = @) @) 0.033 0.050 X
H27 0.014 0.027 @) 0.022 0.047 i @) @) 0.034 0.049 X
H26 0.015 0.028 @) 0.023 0.054 i3 @) @) 0.033 0.050 X
H25 0.016 0.032 @) 0.022 0.063 i3 @) @) 0.030 0.046 X
H24 0.016 0.033 @) 0.020 0.044 i3 @) @) 0.031 0.046 X

X1 ZERE B R OFHE A AL B 0O FRI8%E (FRID B FHENSBRIEEDIEL A A SEZ TI8Y%) H30.06ppml FTHDHZE
X2 R F IR E DA A %O G HIEHED (3T R TO HEHEA0.10me/m* LU T T1EFRIEH0.20me/m*LL R THADZ &
CEHASHED (X B FHE2% R H0.10me/m* LA FTHY .. Hh 2. ERMEELTHFHEN0.10me/m Z# % 2 HA2H L EE#H LA &
X3 HIEFEA XA U LDEHE A E I B (5~208%) D 1FEEEH0.06ppm L FTHHZE
X4 BREEE, FRISEHNSFESEETELS,
HE: HE)NBER—LR— (KR ELEHERER)




KRB EITIRDIRIEREEZERMIRR
(BFEHEARAER AFBEAE)

S Witk &

ZERIEZER(NO,) FE IR E (SPM) NI E(PM2.5)
—_ BEHD R By ERAEYIET I _—_ BEHED |
ﬂzr‘-‘i— ﬂE:FigﬁE EFEﬁgS%ﬂE —;1& ﬂ:—:l:t’*JﬂE 2%"%% 0 10 H 3 § . J: u:HﬂﬁXZ ﬂE:FigﬁE ﬂEFEﬁgs%ﬁE n;{ﬁx:;
X1 : rgg/m_ﬁ 2H uﬂ
ppm mg/m® EfLIzCEDRR KHA | 55 HA Ug/m REA | 55 HA
R3 0.017 0.031 O 0.017 0.030 i3 @) O 8.1 19.0 O @)
R2 0.017 0.032 @) 0.018 0.042 i3 @) @) 9.1 23.8 @) O
R1 0.017 0.030 O 0.017 0.043 i3 @) O 9.8 259 O @)
H30 0.018 0.032 O 0.018 0.052 i3 @) O 11.3 30.5 O @)
H29 0.018 0.032 O 0.018 0.038 i3 @) O 11.9 26.6 O @)
H28 0.02 0.034 @) 0.018 0.042 i3 @) @) 11.7 259 @) O
H27 0.021 0.035 O 0.024 0.070 i3 @) X 13.7 33 O @)
H26 0.023 0.036 O 0.025 0.059 i3 @) O 14.8 38.2 O X
H25 0.023 0.037 O 0.020 0.056 i3 O X 14.6 36.6 O X
H24 0.025 0.040 O 0.024 0.050 i3 @) O — — — -

X1 ZEHRIEBEROREBEREEDIE A AT B FHDEREISHE (FRD B FHEMNSHIEMEDENAMNSEZ TI8%) H0.06ppmA T THA L
X2 BHHFIRYE DIBEEEDMA EDSEETE (FT X TH B FEHEA0.10mg/m* LU T T1EFREEA0.20me/m* LA T THAHZ &
CREASEMM> (% B F1{E2%BRINHY0.10mg/m* L FTHY . M2, ERIZE L THEHEN0.10mg/m* 282 5 HA2H LI EEH LN &
X3 PM2.5DIBBEEHE ) STl 75 5% (S < REASTHED (T EF A5 p g/ m* U FTHAHE
SEHEHE (ZERMICH =2 B FHEDSL. ERE98HEASS 1 g/m U TFTHIE
HE: | BR—LR—(KRFLERERER)
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4 Fn 3 AERE

] 1 7B R A S (1)

PuplIES . PN 3 AR JI
AT - R @) Py aN T TR
Bk H C x5 6H 18 H 95 8H 12H6H 3H9H T 6H18H 9H8H 12H6H 3H9H Ty
R K R ) 11:15 11:00 11:30 11:10 " 10:40 10:40 10:50 10:45
KA - - il & = il - il = = iy -
RIS (m3/sec) - - = — = = - - 0.078 - 0.078
SR o - 24. 0 22.8 10.9 9.5 16. 8 28. 2 25. 8 10. 2 10.6 18.7
KR (@(©)) - 22. 4 21.3 14.5 11.5 17. 4 24.0 20. 8 12.5 12.8 17. 5
ek is| - - MEGHER] | MEESHR] | D WK A IS - WD VIR E (B D W R B D U R (o | (455 B -
AR - - g 5 g 53 g 5 g 5 - e 51 g 5 g 5 g 5 =
375 5 (em) - >100 >100 55 >100 89 87 95 85 >100 92
p H - 6.5~8.5 9.4 8.5 7.9 8.5 8.6 8.2 8.0 7.8 7.9 8.0
Wb E e 3% 5 R B (BOD) (mg/1) =5 1.6 1.6 2.7 1.8 1.9 2.9 1.3 2.7 3.9 2.7
b5y le SR Bk & (COD) (mg/1) - 4.2 3.3 4.0 4.4 4.0 4.5 2.8 3.7 5.7 4.2
=W et B (SS) (mg/1) =50 4 <1 4 <1 3 6 3 1 3 3
EIrEFEE (DO) (mg/1) =5 19.9 11.2 10. 2 16.8 14. 5 10. 4 9.0 8.7 12.0 10. 0
K B #E S (MPN/100m1) - - - 11000 - 11000 - - 17000 - 17000
N-~F% 9 e & (mg/1) - <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 0.5
U > (T-P) (mg/1) - 0.19 0.14 0.11 0.18 0.16 0.14 0.10 0.18 0.28 0.18
SR (T-N) (mg/1) - 3.9 4.4 5.1 5.2 4.7 2.2 2.9 5.6 5.3 4.0
4 i By (mg/1) 0.03 - - - - - - - - - -
J =)L T = ) — )L (mg/1) 0. 002 — — — — — — — — — —
FEHT X ILR B AT o R
P (ns/1) 0,00 S I R R I I R
BRI A (mg/1) =0.003 — - - - - - - <0.0003 - <0. 0003
BT (mg/1) B S & - - - - - - - <0.1 - <0.1
BN (mg/1) =0.01 - - - - - - - <0. 005 - <0. 005
Al 2 2 (mg/1) =0.05 — — - - - - - <0.02 - <0. 02
it 57 (mg/1) =0.01 - - - - - - - <0. 005 - <0. 005
WK g1 (mg/1) =0.0005 — - - — - - - <0. 0005 - <0. 0005
TV LK ER (mg/1) B Ehzewnwo & — — — — — — — — — —
PCB (mg/1) Bt Enievnz & - - - - - - - - - -
FrV ooz F L (mg/1) =0.01 - - - - - - - - - -
FhS oo F L (mg/1) =0.01 — — — — — — — — — —
Truaua RE (mg/1) =0.02 - - - - - - - - - -
BRI AES (mg/1) =0.002 - — — — — — — — — —
1,2- 7 nox ¥ (mg/1) =0.004 - - - - - - - - - -
vicl, 2=V ZuaunxF L (mg/1) =0.04 - - - - - - - - - -
L1-YZuaugxzF L (mg/1) =0.1 - - - - - - - - - -
1,1,1-hrYV 7o X (mg/1) =1 - - - - - - - - - -
1,1,2-h Vs> (mg/1) =0.006 - — - - - — - — - —
1,3-YC 7 no a2y (mg/1) =0.002 - - - - - - - - - -
Fo UL (mg/1) =0.006 - - - - - - - - - -
DA AV (mg/1) =0.003 - - - - - - - - - -
FA X T (mg/1) =0.02 — - — — — — — — — —
I i (mg/1) =0.01 - - - - - - - - - -
=1 (mg/1) =0.01 — — — — — — — — — —
EIES (mg/1) =1 - - - - - - - <0.02 - <0.02
5o 3 (mg/1) =0.8 - - - - - - - <0.08 - <0. 08
A P M EE SR N OVl I8k %5 3R (mg/1) =10 3.5 4.0 4.2 4.5 4.1 1.3 2.3 4.1 3.5 2.8
L Y 1 M == R (mg/1) - 0. 06 0. 06 0. 07 0.10 0. 07 0.07 0. 06 0.10 0.14 0.09
il P 1 a2 SR (mg/1) - 3.5 4.0 4.2 4.4 4.0 1.3 2.3 4.0 3.4 2.8
1,4- A X9 (mg/1) =0.05 — — — — — — — — — —
P = A  -t (mg/1) - 0.09 0.13 0.27 0. 45 0.24 0. 60 0.35 1.0 1.1 0.76




A1) 1 7B R A S (2)

)1 44 " 5 FH JI

TN - FE @) T T H (T W

Bk B C ¥ 6/18H 9H8H 12A6H 3A9H St 6/18H 9/8H 12A6H 3A9H T
ER K IREZ - 11:45 11:50 12:50 11:40 h 12:05 11:35 12:55 12:00 "
R A = - i = = il - i = = i -
it (m3/sec) - - - — - - - 0.41 - 0.41
xRl (((©)) - 25.0 23.8 11.2 12.5 18. 1 24.5 22.3 10. 6 12.0 17. 4
iy (((©)) - 23.0 20.0 10.2 14. 0 16.8 25. 8 21.3 11.5 14. 5 18.3
RESE| - - SH VI | meFEy | mesE | meiE BH % VR [BH 2 W R @B B W R B B VR

A - - g 5 e 5 e 53 e 5 - e 5. Fii e 5. ik B -
75 {5 (em) - >100 >100 >100 >100 100 42 95 82 52 68
p H — 6.5~8.5 8.1 8.0 7.9 8.0 8.0 8.2 7.7 7.9 8.2 8.0
AW Ak A e 3% 2 R B (BOD) (mg/1) =5 1.3 1.0 1.5 5.4 2.3 1.7 0.9 1.5 5.8 2.5
b ~F By e 3% 2ok (COD) (mg/1) - 3.1 2.0 2.5 4.9 3.1 6.1 3.2 2.8 8.2 5.1
lEY B & (SS) (mg/1) =50 3 <1 2 3 2 19 7 7 19 13
BEAEEE R & (DO) (mg/1) =5 9.2 9.8 10.9 11.3 10. 3 10. 4 9.2 11.7 12.3 10.9
5 B REEL (MPN/100m1) - - = 2300 - 2300 - - 3300 - 3300
N—~~2¢ 5 > i H W8 & (mg/1) - <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 0.5
U > (T-P) (mg/1) - 0.15 0.098 0.11 0.24 0.15 0.14 0.074 0.17 0. 40 0.20
e R (T-N) (mg/1) - 3.0 3.7 4.4 5.8 4.2 1.1 1.9 4.7 6.3 3.5
4= i B (mg/1) 0.03 - - - - - - - - -
J =)V 7 = /) —)L (mg/1) 0. 002 - — — — — - - - - -

54 T E R - 3 i

;ﬁgg;w B AT xR (mg/]) 0. 05 _ _ B B _ B B B B B
R DL (mg/1) =0.003 - - - - - - - <0.0003 - <0.0003
BT T (mg/1) Bt shzns & - - - - - - - <0. 1 - <0.1
#h (mg/1) =0.01 - - - - - - - <0. 005 - <0. 005
ANAlhi 7 & 2 (mg/1) =0.05 - - - - - - - <0. 02 - <0. 02
itk (mg/1) =0.01 - - - - - - - <0. 005 - <0. 005
HR K SR (mg/1) =0.0005 - - - — - - - <0. 0005 - <0. 0005
T LRV KER (mg/1) BHshzvwo & - - - - - - - — — —
PCB (mg/1) R AN AP - - - - - - - - - -
rV ooz F L (mg/1) =0.01 - - - - - - - - - -
T I rzonoxTF L (mg/1) =0.01 - - - - — — — - — —
oo AKX (mg/1) =0.02 - - - - - - - - - -
DU M Ak bR 5 (mg/1) =0.002 - - - - - - - - - -
1,2-Y 7 auax X (mg/1) =0.004 - - - - - - - - - -
vi-l, 2=V ZmuxF L (mg/1) =0.04 - - - - - - - - - -
L1-YZuaxF L (mg/1) =0.1 - - - - - - - - - -
L,1L,I-hV oo xk (mg/1) =1 - - - - - - - - - -
1,1,2-Fr Y 7 o> & (mg/1) =0.006 - - - - - - - - - -
1,3-Y 7 mwm a2 (mg/1) =0.002 - - - - - - - - - -
F TN (mg/1) =0.006 - - - - - - - - - -
DA (mg/1) =0.003 - - - - - - - - - -
FAN T NT (mg/1) =0.02 - - - - - - - - - -
e A (mg/1) =0.01 - - - - - - - - - -
e (mg/1) =0.01 - - - - - - - - - -
[ESRE (mg/1) =1 - - - - - - - <0.02 - <0. 02
N (mg/1) =0.8 - - - - - - - <0.08 - <0.08
LA P P 3R M ONAH I M 22 3R (mg/1) =10 2.7 3.6 3.6 4.5 3.6 0. 66 1.0 4.0 4.8 2.6
Y e 1 22 SR (mg/1) - <0. 05 <0. 05 <0. 05 0.10 0. 06 <0. 05 <0. 05 0. 06 0.23 0.10
il P 1 52 3R (mg/1) - 2.7 3.6 3.6 4.4 3.6 0.61 1.0 4.0 4.6 2.6
1,4-U A XV (mg/1) =0.05 — - — - — — — — — —
T =TSR (mg/1) - 0.19 0.11 0.31 1.3 0.48 0.15 0.08 0.17 0.72 0.28




Z

1ok

(e
%

9 4

AR ARG AR (3)

W4 ; K JI

A T o R (E) R Tk G I S A

Bk B © fim 6/18H 9A8H 12A6H 3A9H Ty 6/18H | 9A8H 12A6H 3H9H St
PR A R 2 i 12:10 12:15 13:15 12:05 12:30 12:00 13:30 12:20 -
R A - - s = = i i = = A -
it (m3/sec) - - - — - - - 0.29 - 0.29
SR o - 26.5 23.2 10.2 12. 8 18.2 25. 1 23.9 10. 6 9.8 17. 4
IR © - 23.0 20. 4 11.4 11.8 16. 7 24.8 21.2 10.2 15.8 18. 0
. fA - - 5 F UK S | MEEY | 5wk - B1 % W R 8] 5 WK B 5 R 4 B B VR

L& - - e 5 e 5 i 5 it P R - e 5 e 5 5 e 5

75 {5 & (cm) - >100 84 >100 47 83 51 88 65 86 73
p H - 6.5~8.5 8.4 8.1 8. 1 8.6 8.3 7.6 7.6 7.8 8. 1 7.8
ARl R B R B (BOD) (mg/1) =5 1.1 0.6 1.1 16 4.7 1.7 1.0 1.7 2.2 1.7
bR SR 2 sk & (COoD) (mg/1) - 3.0 2.4 3.3 14 5.7 5.3 2.6 3.8 6.6 4.6
TR lE Y B (SS) (mg/1) =50 3 4 1 8 4 10 1 5 5 5
B3R & (DO) (mg/1) =5 9.8 10.3 11.9 11.3 10.8 8.1 9.5 10.7 13.5 10.5
I B B 2K (MPN/100m1) - - 940 - 940 - 11000 - 11000

N-—~ 4% e & (mg/1) - 0.5 0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 0.5
U > (T-P) (mg/1) - 0.044 0.041 0.071 0.30 0.11 0.11 0. 082 0. 096 0.17 0.11
A%z 37 (T-N) (mg/1) - 0.98 1.4 4.0 7.4 3.4 1.2 1.4 3.0 3.6 2.3
4= A 1 (mg/1) 0.03 - - - - - - =

J =N T ) —) (mg/1) 0.002 - - - - - - -
T

Room ™ (mg/1) 0.0 - - - - - - -

B EI YA (mg/1) =0.003 - - - - - <0. 0003 - <0. 0003
LT (mg/1) Y A - - - - - - - <0.1 - <0.1

£ (mg/1) =0.01 - - - - - - - <0. 005 - <0. 005
A= (mg/1) =0.05 - - - - - <0.02 - <0.02

it (mg/1) =0.01 - - - - - <0. 005 - <0. 005
HA K R (mg/1) =0.0005 - - - - - <0. 0005 - <0. 0005
T L L KGR (mg/1) - - - — — — — — -
PCB (mg/1) s nzno & - - - - - - -

KRV ZuouogxzgL o (mg/1) =0.01 - — — — — — —
FhSZupnxzF L (mg/1) =0.01 - - - - - - -

T ua XS (mg/1) =0.02 - - - - - - —

VU Ak R 3B (mg/1) =0.002 — _ _ _ _ — =
,2-YZuuax X (mg/1) =0.004 - - - - - - -

vi-l,2-V v L (mg/1) =0.04 - - - - - - -
L,1-YZ7uouaxF L (mg/1) =0.1 - - - - - - -
Li,l-hrVruuxXr (mg/1) =1 - - - - - - -

1,1,2- V7o x X (mg/1) =0.006 - - - - - - - - - -
1,3-Y 7 unma a2 (mg/1) =0.002 - - - - - - - - - -
FZ UL (mg/1) =0.006 - - - - - - -

T (mg/1) =0.003 - - - - - - -

FA XTI NT (mg/1) =0.02 - - - - - - -

P AV (mg/1) =0.01 — — — — - — —

L (mg/1) =0.01 — — — — - — —

EES (mg/1) =1 - - - - - 0.02 - 0.02

5o (mg/1) =0.8 — - - - - - 0. 09 - 0.09
o i P P 5 S N TN P P 5 58 (mg/1) =10 0.86 1.1 3.0 2.9 2.0 0.88 1.2 2.0 1.7 1.4
oA P P 2 3 (mg/1) - <0. 05 <0. 05 0. 05 0.23 0.10 <0.05 <0.05 <0. 05 <0.05 0. 05

fil P 1 = SR (mg/1) - 0.81 1.1 3.0 2.7 1.9 0.83 1.2 2.0 1.7 1.4
L4V A XY (mg/1) =0.05 - - - - - - = -

T =TSR (mg/1) - 0.10 0.05 0.56 3.1 1.0 0.10 0.11 0.43 1.4 0.51




450 3 A

T I AR AR L (4)

taplIES - H ] JII

B I3 Tt i e () ARx > 7B T S NI

K H A 6J118H 9/18H 12A6H 379H T 61 18H | 9/A8H 12H6H 3H9H Tt
R K 15 A - 9:30 9:35 09:50 9:30 " 09:00 9:00 09:00 9:00 i
KA - - = i = ki - il i = 53 -
i (m3/sec) - - - — - - - - 0.24 - 0.24
Sl o - 19.0 17.5 8.5 5.4 6 23. 1 22.0 9.4 8.0 15. 6
7K i o - 14.8 14.8 9.5 7.8 7 18.0 18.0 9.8 8.5 13.6
4 FH - - MBS B | EAH MaBH | MEaE | eS| meaE -
A - - e 53 e 5 e 5 e 5L — g 5 e 5 e 53 e 5 —
75 {5 (cm) - >100 >100 >100 >100 100 >100 >100 >100 >100 100
p H - 6.5~8.5 7.9 7.9 7.5 7.9 7.8 7.9 7.8 7.5 7.9 7.8
AW bRy e SR sk & (BOD) (mg/1) =2 0.3 0.3 0.3 0.3 0.3 0.2 0.5 0.4 1.0 0.5
bRl 38 2R & (CoD) (mg/1) - 1.6 0.5 0.4 0.5 0.8 1.2 0.6 0.7 1.0 0.9
EE e & (SS) (mg/1) =25 <1 <1 <1 <1 1 <1 <1 <1 1 1
AT 4 (DO) (mg/1) =7.5 9.8 10.0 12.1 14.2 11.5 9.9 9.9 12.1 12.2 11.0
PN AR o (MPN/100m1) = 1000 - - 490 - 490 - - 4900 - 4900
N—~ 26 4 H i ' B (mg/1) - <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 0.5
MU > (T-P) (mg/1) - 0.009 0.008 0. 008 0.010 0. 009 0. 030 0.027 0.025 0. 046 0.032
#Z= 3 (T-N) (mg/1) - 0.67 0. 68 0.70 0. 65 0.68 1.2 1.2 1.3 1.2 1.2
4= i 6y (mg/1) 0.03 - - - - - - - - - -
J =)V 7 = ) — )L (mg/1) 0. 002 — — - — — - - - - -
Ll — PRPETN 7 4 i

E%ﬁgg;w AT g iR (mg/1) 0.05 _ _ B B B B B B B B
I RI A (mg/1) =0.003 — - - - — - - <0.0003 - <0. 0003
BT (mg/1) M S hiewnws - - - - - - - <0.1 - <0.1
) (mg/1) =0.01 - - - — — - - <0. 005 - <0. 005
AN I = (mg/1) =0.05 - — - - — - - <0.02 - <0. 02
itk & (mg/1) =0.01 - - - — - - - <0. 005 - <0. 005
Ha KGR (mg/1) =0.0005 - - - - - - - <0. 0005 - <0. 0005
T IV X LK ER (mg/1) M EShzewnwo & — — — — — — — — — —
PCB (mg/1) MBS uno b - - — — — — — — — —
N =A== S (mg/1) =0.01 — — — — — — — — — —
F hSrvuaxTF L (mg/1) =0.01 — — — — — — — — — —
s maa AR (mg/1) =0.02 - - - - - - — - - —
PO AL R SR (mg/1) =0.002 — — — — — — — — — —

1,2~ /7 oo x X (mg/1) =0.004 — — — — — — — — — —
VA-1,2-YV 7 nmuaxF L (mg/1) =0.04 — — - — — — — - - -

L, 1-YrZuaugxF L (mg/1) =0.1 - - - - - - - - - -
1,1,I-hV o=z X (mg/1) =1 - - — - - — - — - -
1,1,2-h VU Z o=z X (mg/1) =0.006 - - - - - - - - - -
1,3-C 7 oo 7Zua~ (mg/1) =0.002 - - - - - - — — — —
FZ TN (mg/1) =0.006 — — — — — — — — — —
TV (mg/1) =0.003 - - - - - - - - - —
FA X I NT (mg/1) =0.02 - - - - - - - - - -
I i (mg/1) =0.01 - - - - - - - - - -
e (mg/1) =0.01 - - - - - - - - - -
[ES S (mg/1) =1 - - - - - - - <0. 02 - <0. 02
ek (mg/1) =0.8 - - - - - - <0.08 - <0.08
i A P M 4 SR M OVEE e M 42 57 (mg/1) =10 0.70 0. 64 0. 68 0. 66 0.67 1.2 1.2 1.1 1.1 1.2
o A e 22 SR (mg/1) - <0.05 <0. 05 <0. 05 <0.05 0.05 <0. 05 <0. 05 <0. 05 <0. 05 0.05
fiiY P 1 22 3R (mg/1) - 0. 65 0.59 0.63 0.61 0.62 1.2 1.2 1.1 1.1 1.2
1,4- A %P (mg/1) =0.05 — — — — — — — — — —
T =T PEESE (mg/1) - <0. 04 <0. 04 <0.04 <0. 04 0.04 <0. 04 <0. 04 0.07 0. 06 0.05




1ok

8%/

AN 3R

KB RRASRE AR (5)

W4 BB AL # )1

BARBGIT A (Ei) % A (Fi) K5 M i (i 5%) SLBRY B T i HE
KA cxm 6H18H | 9A8H | 12A6H | 3A9H yyy |GA18H | 9A8H | 12H6H | 3H9H wyy |GA18H | 9A8H | 12H6H | 3A9H T
K 10:05 | 10:10 10:15 10:05 - 11:14 | 11:25 11:30 11:15 - 9:05 9:05 09:00 09:00 -
R - - & i s & - i3 i s i3 - i3 s s it -
it (m3/sec) - - - - - - - 0.34 0.34 - - — -

SUR (c) - 19.8 19.4 10.0 7.6 25.5 24.8 9.5 12.5 1 27.5 24.0 10. 1 7.6 .3
KR (©) - 14.5 15.2 10.0 8.8 22.6 19.0 10.8 14.0 25.2 21.2 14.5 16.2 9.3
ki - - mEFEY | MeFEY | MEFED | MEFY EesHEY | mEEY | EaEy | eE STV | MEAFEY | MEAEFY | 5TV

B - - iy iy R 8 B - R 5 R R - ARER | ARES | ARES | AREX -
FHHE (cm) - >100 >100 >100 >100 100 >100 >100 >100 >100 100 >100 >100 >100 >100 100
pH - 6.5~8.5 7.9 7.9 7.6 7.8 7.8 8.3 8.4 7.7 8.4 8.2 7.2 7.7 7.7 7.1 7.4
AW Al 2 R FR TR . (BOD) (mg/1) <5 0.4 0.5 0.8 0.7 0.6 1.1 0.6 0.5 1.5 0.9 1.4 1.1 0.7 2.4 1.4
b5 B 1 34 R & (COD) (mg/1) - 1.1 0.7 0.8 1.1 0.9 2.0 1.2 0.8 3.3 1.8 7.7 4.2 4.5 8.5 6.2
TR R (SS) (mg/1) =50 <1 <1 2 <1 1 <1 1 <1 2 1 2 1 1 3 2
EirBeF i (DO) (mg/1) =5 10.2 10.0 1.1 11.6 10.7 9.3 10. 1 13.1 12.1 11.2 7.7 9.7 9.9 9.2 9.1
R B R A (MPN/100m1) - - 7900 7900 - 2200 2200 - - 13 - 13
N-~ % il & (mg/1) - <0.5 <0.5 0.5 5 0.5 <0.5 <0.5 0.5 0.5 0.5 <0.5 <0.5 <0.5 <0.5 0.5
BY > (1-P) (mg/1) - 0.021 | 0.016 | 0.031 0.045 | 0.028 0.044 | 0.028 0.044 0.071 | 0.047 1.8 0.63 0.68 1.6 1.2
i % 3% (T-N) (mg/1) - 0.79 0.72 0.98 0 0. 87 1.3 1.3 1.5 1.7 1.5 13 5.6 7.5 13 9.8
4 i (mg/1) 0.03 - - - - - - - - - - - -
) =)V7x)—)L (mg/1) 0. 002 - - - - - - - - - - - - -
A AT R (mg/1) 0.05 - - - - - - - - - - - - - -
HREIT L (mg/1) =0.003 - - - - - - <0.0003 <0.0003 - - - - -
BYT (mg/1) g snmnc - - - - - - <0.1 <0. 1 - - - - -
# (mg/1) =0.01 - - - - - - <0. 005 <0.005 - - - - -
A7 = 2 (mg/1) <0.05 - - - - - - <0.02 <0.02 - - - - -
[ (mg/1) =0.01 - - - - - - <0. 005 <0. 006 - - - - -
Kk R (mg/1) <0.0005 B - - - - - <0.0005 <0. 0005 - - - - -
T %L KER (mg/1) R EnRNZ & - - - - - - - - - - - - -
PCB (mg/1) B &RV L - - - - - - - - - - - - - -
N ZmpxzFL v (mg/1) =0.01 - - - - - - - - - - - - -
FThIF/mmxzFL (mg/1) =0.01 - - - - - - - - - - - - -
vsaa ARy (mg/1) =0.02 - - - - - - - - - - - - - -
DU 8 Al R (mg/1) =0.002 - - - - - - - - - - - - -
L2-vyunxzyy (mg/1) =0.004 - - - - - - - - - - - - -
vA-l,2-v/mrxF Ly (mg/1) =0.04 - - - - - - - - - - - - - -
LiI-Y/poxF Ly (mg/1) <0.1 - - - - - - - - - - - - -
LLl-hYVrvomxr (mg/1) =1 = = - - - - - - - - - - -
LL,2-hV7opxXy (mg/1) =0.006 - - - - - - - - - - - - - -
L3-Yyuunryay (mg/1) =0.002 - - - - - - - - - - - - -
FIT L (mg/1) <0.006 - - - - - - - - - - - - -
vV Yv (mg/1) =0.003 - - - - - - - - - - - - -
FARVHINT (mg/1) =0.02 - - - - - - - - - - - - -
P (mg/1) =0.01 - - - - - - - - - - - - -
Ly (mg/1) £0.01 = = - - - - - - - - - - -
EWES (mg/1) =1 - - - - - - <0.02 <0.02 - - - - -
SHo# (mg/1) =0.8 - - - - - - <0. 08 <0. 08 - - - - -
o e A R % OV R % 3R (mg/1) =10 0.81 0.70 0. 89 0. 90 0.83 1.1 1.3 1.4 1.3 1.3 11 5.3 6.3 9.8 8.1
o i A 2 R (mg/1) - <0.05 | <0.05 <0.05 <0. 05 0.05 <0.0 <0. 05 <0.05 <0. 05 0.05 €0.05 | <0.05 <0.05 <0. 05 0.05
fiF i P %8 34 (mg/1) - 0.76 0. 65 0.84 0.85 0.78 1.1 1.3 1.4 1.3 1.3 11 5.3 6.3 9.8 8. 1
L4-VF x4 (mg/1) <0.05 - - - - - - - - - - - - -
ToE=THES (mg/1) - <0.04 | <0.04 <0.04 0.04 0.04 0.09 <0. 04 <0. 04 0. 07 0.06 0.21 0.09 0.05 0.12 0.12
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AL A (6)

toMIES - & i JI

B T - RO (E/D) W 1008B T Om % = i

oK H C g 618H | 9H8H 12H6H 3H9H B 6 18H | 9H8H 12H6H | 3A9H R
B K SR — 10:45 10:50 11:00 10:45 9:30 9:20 12:15 9:15 5
K fige = - HEf H = HEF - H s = s =
Wit i (m3/sec) - - - — - - - - 0.051 - 0.051
SR (D) - 21.0 19.5 10. 8 9.8 15.3 27. 6 23. 2 9.8 7.8 17. 1
K IR (@) - 17.5 17.0 10.0 7.5 13.0 23.0 19.8 11.0 9.2 15.8
4 FH - = MEGH] | B | Bl | EEE D — M GH ] | MEGHP] | IEEHEE | mEIHH —
R - - g 5 e 5L e 5 e 5L - e 5L I 5 g 5 I 5 -
75 15 (em) - >100 >100 >100 >100 100 >100 >100 >100 >100 100
p H - 6.5~8.5 7.8 8.1 7.7 8.0 7.9 8.4 8.1 7.9 8.2 8.2
A Wby le SR 2Rk & (BOD) (mg/1) =5 0.1 0.6 0.4 0.9 0.5 0.8 0.8 0.9 1.7 1.1
b5 liE 38 225Kk B (COD) (mg/1) - 2.2 1.6 1.8 2.2 2.0 3.5 2.5 2.3 3.3 2.9
rEIEY R B (SS) (mg/1) =50 1 2 <1 <1 1 1 1 4 5 3
EAT SR E (DO) (mg/1) =5 8.9 9.3 11.1 11.4 10.2 9.8 9.8 11.3 12.3 10. 8
KNG B BEH (MPN/100m1) - - - 13000 - 13000 - - 4600 - 4600
N=~2¢ U 4 W B (mg/1) - <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 0.5
MU (T-P) (mg/1) - 0.14 0.072 0.070 0.10 0. 096 0.10 0. 089 0.13 0.14 0.11
iR % SR (T-N) (mg/1) - 1.8 1.9 1.8 2.3 2.0 0.70 2.2 2.6 2.4 2.0
4=l (mg/1) 0.03 - - - - - - - = - =
J =)V T = ) —)L (mg/1) 0.002 - - - - - - - - - —
e S

;ﬁ%’g;/v BRI T g PR (mg/]) 0.05 _ _ _ _ _ _ — — — -
R DL (mg/1) =0.003 - - - - - - - <0.0003 - <0. 0003
BT (mg/1) B s niewnc & - - - - - - - <0.1 - <0. 1
i) (mg/1) =0.01 - - - - - - - <0. 005 - <0. 005
oAt 7 e 2 (mg/1) =0.05 - - - - - - - <0. 02 - <0. 02
[ (mg/1) =0.01 - - - - - - - <0. 005 - <0.005
e /K G (mg/1) =0.0005 - - - - = = = <0. 0005 = <0. 0005
TV XV KER (mg/1) s hiewnws b = - — - - - - -~ - -
PCB (mg/1) B S o & - - - - - - - - - -
FrVZowoxF L (mg/1) =0.01 - - - - - - - - - -
Pl A =R =1 o (mg/1) =0.01 - - — - - - - - - —
Crau XX (mg/1) =0.02 - - - - - - - - - -
VU HE Ak i 3R (mg/1) =0.002 — — — — — — — — — —

,2-Y 7 uua=x X (mg/1) =0.004 - - - - - - - - - -
vicl,2-Y s gL (mg/1) =0.04 - - - - - - - - - -
,1-YZ7uoaxcF L (mg/1) =0.1 - - - - - - - - - -
1,1,1-hYzrzvoax X (mg/1) =1 - - - - - - - - - =
1,1,2- UV 7 oo X (mg/1) =0.006 — — — — — — — — — —

1,3-Y 7 uaua a2 (mg/1) =0.002 — — — — — — — — — —
FF TN (mg/1) =0.006 — — — — - — — — — —
=T (mg/1) =0.003 — — — — - — - — — —
FA X7 (mg/1) =0.02 — — — — — — — — — —
N (mg/1) =0.01 — — — - - — — — — —
L (mg/1) =0.01 — — — — - — — — — —
[ESPE (mg/1) =1 - = - = - - - 0.02 - 0.02
5o (mg/1) =0.8 - - - - - - - <0.08 - <0.08
A P PR 2 SR N OV P PR 2 SR (mg/1) =10 1.6 1.7 1.7 2.1 1.8 0.56 2.1 2.2 2.0 1.7
A P 2 SR (mg/1) - <0. 05 <0. 05 <0. 05 <0. 05 0. 05 <0. 05 <0. 05 <0. 05 <0. 05 0. 05
fiY P 1 25 3R (mg/1) - 1.6 1.7 1.7 2.1 1.8 0.51 2.1 2.2 2.0 1.7
1,4-F X%V (mg/1) =0.05 — — — — — — — — — —
T e =T MRS (mg/1) - <0.04 <0.04 <0. 04 0.04 0.04 <0. 04 0.05 0.14 0.08 0. 08
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T KRR ARG 2R (7)

tplIES - B = JIl 7 9= Il

K B i A kX T B & = %

oK H C g 6H18H | 9H8H 12H6H | 3H9H T 6H18H | 9H8H 12A6H | 3H9H B
— g 5 A
B K EE 10:30 10:10 10:20 10:00 12:30 12:40 13:40 12:30

KA - - i = = A - i = = I -
I (m3/sec) - - - 0.063 - 0. 063 - - 0.019 - 0.019
SR [6(0)) - 28. 8 25.2 10. 3 8.8 18.3 27.0 23.8 11.0 14.0 19.0
K IR (D) - 24.5 20. 8 13.3 13.5 18.0 26.5 22.0 11.5 12.8 18.2
4 FH — = MEA B | MEOHHT | MEAH] | EaE Y] - S 3w | MEAGHE] | BAE Y PRCEAY: -
R - - I 5 g 5 e 5 e 5 - e 5L e 5 e 5 Hit 4 Pk LR -
75 15 (cm) - >100 >100 98 >100 100 95 >100 >100 >100 99
p H - 6.5~8.5 8.3 8.2 7.9 8.7 8.3 9.5 8.7 8.4 9.1 8.9
AWk lE SR 2k & (BOD) (mg/1) =5 1.0 0.9 0.7 1.5 1.0 1.5 1.0 1.7 3.3 1.9
b5 lie 35 2 sk & (COD) (mg/1) - 2.8 1.7 1.5 2.8 2.2 4.1 2.4 3.1 6.5 4.0
TEEY B (SS) (mg/1) =50 <1 1 <1 1 1 7 2 1 1 3
AT B (DO) (mg/1) =5 11.1 10.0 13. 1 15.3 12.4 12.3 11.2 12.7 15. 4 12.9
KRG B BE S (MPN/100m1) - - - 2300 - 2300 - - 7900 — 7900
N—~26 - (mg/1) - <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 0.5
U > (T-P) (mg/1) - 0.091 0. 062 0.070 0.18 0.10 0. 098 0. 060 0. 096 0.25 0.13
a3 (T-N) (mg/1) - 2.9 3.6 4.1 4.7 3.8 1.1 1.6 2.8 3.3 2.2
4> i B (mg/1) 0.03 - - - - - - - = = -

S =T = ) —) (mg/1) 0.002 - - - - - - - - - -
;ﬁ%’gg/b«/t AT o iR (mg/]) 0.05 _ _ _ _ _ _ _ — — —
BRI T A (mg/1) =0.003 - - <0.0003 - <0. 0003 - - <0. 0003 - <0. 0003
BT (mg/1) B Ehewnws & - - <0. 1 - <0.1 - - <0.1 - <0.1
&n (mg/1) =0.01 — — <0. 005 — <0. 005 — — <0. 005 - <0. 005
SNAl 2 o 2 (mg/1) =0.05 - - <0.02 - <0.02 - - <0.02 - <0.02
it 3 (mg/1) =0.01 - - <0. 005 - <0.005 - - <0. 005 - <0. 005
He ok #R (mg/1) =0.0005 - - <0. 0005 - <0. 0005 - - <0. 0005 - <0. 0005
TRV IKER (mg/1) B S & - - - - - - - - - -
P CB (mg/1) M S hnZewnws & - - - - - - - - — —
N A== ol (mg/1) =0.01 — — — — — — — — — —
F K 7o F L (mg/1) =0.01 — — — — — — — — — —
A== (mg/1) =0.02 — — — — — — — — — —
VU Al 3R (mg/1) =0.002 - - - - - - - - - -
1,27 aax X (mg/1) =0.004 - — — — - - — — — —
YA=1,2-C 7 mua = F L (mg/1) =0.04 - — — — - — — — — -
1,1- 7 ooxF L (mg/1) =0.1 — — — — - — — — — —
LI, 1I-FVZaaxxy (mg/1) =1 - - - - - - - - - -
1,1,2-hVZmomxX (mg/1) =0.006 - - - - - - - - - -
1,3-Y 7 aua o~ (mg/1) =0.002 - - - - - - - - - -
FZ T A (mg/1) =0.006 - - - - - - - - - -
=T (mg/1) =0.003 — — - — — — — — — —
FAXTINT (mg/1) =0.02 — — — — — — — — — —
P (mg/1) =0.01 - - - - - - - - - -
=L (mg/1) =0.01 - - - - - - - - - -
ESPE S (mg/1) =1 - - 0.02 - 0.02 - - <0.02 - <0. 02
5B (mg/1) =0.8 - - <0.08 - <0.08 - - <0.08 - <0.08
i P S SR M OV IR 1 %2 58 (mg/1) =10 2.4 3.4 3.8 3.8 3.4 0.76 1.4 2.0 2.1 1.6
o A P P 22 SR (mg/1) - <0. 05 <0. 05 <0. 05 <0. 05 0. 05 <0. 05 <0. 05 <0. 05 0.08 0. 06
iy P 1 22 3R (mg/1) - 2.4 3.4 3.8 3.8 3.4 0.71 1.4 2.0 2.1 1.6
1,4- A %Y (mg/1) =0.05 — — — — — — — — — —
TR =T AR (mg/1) - 0.04 0. 05 0.10 0.79 0.25 0.16 0.10 0.33 0. 68 0.32
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AN 3 AEEE

TR A G 2R (8)

)4 552 155 2 7 ES Jit JIl & )1
Bk H C A 6H18H | 9HA8H 12H6H 3H9H B 6H18H | 9HA8H 12H6H 3H9H 4
R K IS | 9:55 9:50 09:30 9:40 - 11:45 11:20 11:55 11:35 -
R A - - L = = 5 - il = = s -
Vit B (m3/sec) - — - 0. 045 - 0. 045 - - 0.018 — 0.018
St (D) - 24.5 24.0 10.5 7.1 16.5 25.5 22.9 10.0 11.0 17. 4
AR IR (D) - 22.5 19.8 10.8 10. 2 15.8 25.5 21.0 12.0 13.8 18. 1
5. FH - - MEGEN] | MEAGHED] | mEASE] | S - STV D WK E] D TV A D WK -
75 {5 (em) - >100 >100 >100 >100 100 48 75 77 76 69
p H - 6.5~8.5 8.6 8.0 7.9 8.2 8.2 7.7 7.5 7.6 7.7 7.6
Al B e FE 2R B (BOD) (mg/1) =5 0.4 0.6 0.4 1.0 0.6 2.0 1.1 1.9 3.7 2.2
bR le S 2SR & (COD) (mg/1) - 2.3 1.6 1.1 1.5 1.6 4.0 2.6 3.9 6.8 4.3
rEEY B R (SS) (mg/1) =50 5 1 <1 3 3 14 10 16 4 11
AT 3 B (DO) (mg/1) =5 10.9 10.0 11.2 12.2 11.1 7.9 8.0 7.8 8.9 8.2
K5 B RE L (MPN/100m1) - - 4900 - 4900 - - 7900 - 7900
N=~26 - il (mg/1) - <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 0.5
U > (T-P) (mg/1) - 0.096 0.10 0.077 0. 096 0.092 0.11 0.072 0.12 0.23 0.13
i %2 38 (T-N) (mg/1) - 2.3 2.7 3.0 2.3 2.6 1.1 1.3 4.7 6.6 3.4
4= i $h (mg/1) 0.03 = = - - - - - - - -
/S =)y 7 =/ — I (mg/1) 0. 002 — — — — — — — — — —
> Lo~ P 2 - ik
ﬁiﬁgg%w B AT o R (mg/l) 0.05 _ _ _ - B _ _ - - B
1 R I v A (mg/1) =0.003 - - <0.0003 - <0.0003 - - <0.0003 - <0. 0003
BT (mg/1) BiiEhzenws & - - <0. 1 - <0. 1 - - <0. 1 - <0. 1
&0 (mg/1) =0.01 - - <0. 005 - <0. 005 - - <0. 005 - <0. 005
S 7 o 2 (mg/1) =0.05 - - <0. 02 - <0.02 - - <0. 02 - <0.02
it (mg/1) =0.01 - - <0. 005 - <0. 005 - - <0. 005 — <0. 005
FR ok SR (mg/1) =0.0005 - - <0. 0005 - <0. 0005 - - <0. 0005 - <0. 0005
TV KRER (mg/1) B Ehenwo & - - - - - - - - - -
P CB (mg/1) M S nnwo & — — — — — — — — - -
rVZooxF L (mg/1) =0.01 - — — — - - - - - -
F hS ooz F L (mg/1) =0.01 - - - - - - - - - —
A= R= . S (mg/1) =0.02 - - - - - - - - - -
DU Ak R 3R (mg/1) =0.002 - - - - - - - - - -
,2-Y 7 unax X (mg/1) =0.004 - - - - - - - - - -
vicl, 2=z xcF L (mg/1) =0.04 - - - - - - - - - -
L,1-Z7 ooaxF L (mg/1) =0.1 - - - - - - - - - -
1L,1,1-hrV ooz X~ (mg/1) =1 - - - - - - - — — -
1,1,2-hV oo xX (mg/1) =0.006 - - - - - - - — — —
1,3-YZ7 o X~ (mg/1) =0.002 - - - - - - - - - -
FZ U A (mg/1) =0.006 - - - - - - - - - -
T~ (mg/1) =0.003 - - - - - - - - - -
FAX T (mg/1) =0.02 - - - - - - - - - -
I g (mg/1) =0.01 - - - - - - - - - -
g (mg/1) =0.01 - - - - - - - - - -
EES (mg/1) =1 - - <0.02 - <0.02 - - <0.02 - <0. 02
e (mg/1) =0.8 - - <0.08 - <0.08 - - <0.08 - <0. 08
A P P a5 M OV Pl a8 3R (mg/1) =10 2.0 2.6 2.6 2.1 2.3 0.70 1.1 3.5 3.1 2.1
A P 2 TR (mg/1) - <0. 05 <0. 05 <0. 05 <0. 05 0.05 <0. 05 <0. 05 0.05 0.22 0.09
fiY P 1 22 3R (mg/1) - 2.0 2.6 2.6 2.1 2.3 0. 65 1.1 3.5 2.9 2.0
1,4- A %P (mg/1) =0.05 — — — — — — — — — —
T =T e (mg/1) - 0. 05 <0. 04 0.05 0.05 0.05 0.13 0. 09 0.55 3.3 1.0
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CT Mk

AN 2 AERE HUR KB AR R

A X Sy TE AR AT Ak o B 101 A A

R AT Hh TR = AR = = 8 H V8 B [ £ B 5
. HAZ B B35 AL e - p— . p— N - S— SP— —
REEX 5y R EH PRI EH EH A EwH A
BRAAE A 5 Fn24-10 A A Fn24-10 A 5 Fn24-10 A 5 Fn24-10 A 5 Fn24-10 H S Fn24-10 H
AR SR (mS/m) - 37 26 34 26 31 40
p H - 6.5~8.5 7.3 6.6 7.4 6.9 6.8 6.6
IR i (C) - 18.6 18.5 20.0 18.8 18.5 19.5
R - - g 53 g 53 g 53 g 5 I 5 i 5.
S48, - - A £, A £, pLE) 0 5, A 5, A £,
A NV AVN (mg/1) =0.003 <0. 0003 <0. 0003 <0. 0003 - - -
LT (mg/1) Bl Shzns & <0.1 <0.1 <0.1 - - -
& (mg/1) =0.01 <0. 005 <0. 005 <0. 005 - - -
PaX Z=TN (mg/1) =0.05 <0.02 <0.02 <0. 02 - - -
At (mg/1) =0.01 <0. 005 <0. 005 <0. 005 - - -
KGR (mg/1) =0.0005 <0. 0005 <0. 0005 <0. 0005 - - -

T L LK R (mg/1) BMHEnZ2nw & - - - - - -
PCB (mg/1) B Eshzuno & <0. 0005 <0. 0005 <0. 0005 - - -
Trma XK (mg/1) =0.02 <0. 0002 <0. 0002 <0. 0002 - - -
VU Ak ik 35 (mg/1) =0.002 <0. 0002 <0. 0002 <0. 0002 - - -
VA=R=E-0 S Ve (mg/1) =0.002 <0. 0002 <0. 0002 <0. 0002 - - -
1,2-YZmnnxTXH (mg/1) =0.004 <0. 0002 <0. 0002 <0. 0002 - - -
L,1-¥Z7upxz=F1L (mg/1) =o0.1 <0. 0002 <0. 0002 <0. 0002 - - -
1,2-Y 7 nuxmF L (mg/1) =0.04 <0. 0004 <0. 0004 <0. 0004 - - -
1,1,1-hU Z o>z (mg/1) =1 <0. 0002 <0. 0002 <0. 0002 - - -
1,1,2-hU =X (mg/1) =0.006 <0.0002 <0. 0002 <0. 0002 - - -
IR =R =10 R P (mg/1) =0.01 <0. 0002 <0. 0002 <0. 0002 - - -
F RSz F L (mg/1) =o0.01 <0. 0002 <0. 0002 <0. 0002 - - -
1,3-Y oL (mg/1) =0.002 <0.0004 <0.0004 <0. 0004 - - -
F T A (mg/1) =0.006 <0. 0006 <0. 0006 <0. 0006 - - -
D (mg/1) =0.003 <0. 0003 <0. 0003 <0. 0003 - - -
F AT T (mg/1) =0.02 <0. 002 <0. 002 <0. 002 - - -
A < (mg/1) =0.01 <0. 0002 <0. 0002 <0. 0002 - - -
L (mg/1) =0.01 <0.002 <0.002 <0. 002 - - -
HE A e 52 S e OV 8 1 22 3R (mg/1) =10 5.2 5.0 3.9 7.4 10 10
5o (mg/1) =0.8 <0.08 <0.08 <0.08 - - -
ESES (mg/1) =1 0.02 <0.02 <0.02 - - -

1, 4- A %W (mg/1) =0.05 <0. 005 <0. 005 <0. 005 - - -
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PREE X 5y I EH I PRH EFH I
R A 3 FN24E-10 A 524510 A A FN24E10 A 524510 A 3 FN24E10 A 3 FN24E10 A
R R (mS/m) - 40 30 22 21 20 28

p H - 6.5~8.5 6.6 6.8 6.6 6.7 7.7 7.0
IR C) - 17.8 17.6 16. 5 17.5 16. 5 17.3
B - - 8 B3, 4 5. 4HE B g 5 g = I 5.
PN ) - - e 4, g £5, e £4, e £5, i I 2,
7RI U A (mg/1) =0.003 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
BT (mg/1) M Enenwo & <0. 1 <0.1 <0. 1 <0.1 <0.1 <0. 1
#h (mg/1) =0.01 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
A iRZR =20 (mg/1) =0.05 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
itk 5% (mg/1) =0.01 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
WK SR (mg/1) =0.0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 L 3 L KGR (mg/1) M Enz2no & - - - - - -
PCB (mg/1) B Eheno & <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
Crmu A K (mg/1) =0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
VoAb pR 58 (mg/1) =0.002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
VA=R=1=-0 Sl (mg/1) =0.002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
1,2-Y 7=y (mg/1) =0.004 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
L,1-¥Zauxg L (mg/1) =o0.1 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
1,2-YZomx=F L (mg/1) =0.04 <0. 0004 <0. 0004 <0. 0004 <0. 0004 <0. 0004 <0. 0004
1,1,1-hUVZmmr=H (mg/1) =1 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
1,1,2-FUZmua=xX (mg/1) =0.006 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
[ NUEZA=R=1E0 SR P (mg/1) =0.01 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
FhSrsumxF L (mg/1) =0.01 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
1,3-Y 7 mnma ol (mg/1) =0.002 <0. 0004 <0. 0004 <0. 0004 <0. 0004 <0. 0004 <0. 0004
FF A (mg/1) =0.006 <0. 0006 <0. 0006 <0. 0006 <0. 0006 <0. 0006 <0. 0006
D (mg/1) =0.003 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
F AR T (mg/1) =0.02 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
_R¥ (mg/1) =o0.01 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
R e N (mg/1) =0.01 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
VL A I 1 2 3R M OV PR P 22 3R (mg/1) =10 1.1 2.2 3.7 2.7 0.63 3.7
5o FE (mg/1) =0.8 <0. 08 <0. 08 <0. 08 <0. 08 <0. 08 <0. 08
ESES (mg/1) =1 <0. 02 0.02 <0.02 <0. 02 <0. 02 0.03
1, 4= %4 (mg/1) =0.05 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005




S0 2 AR HE R KBRS RS SR
A X 53 A o A
W AT Hb S B B = RORAT s RO AT
. " HANZ BB L UE S S P - — - —
PREE X 5 i = 3 I = I w7
ERKAE A S FN24-10 H 3 FN24-10 H S FN24-10 H S FN24-10 A S FN24E10 4
BB, A A P R (mS/m) - 35 27 28 41 38
p H - 6.5~8.5 7.1 6.8 6.6 7.5 7.1
K IR (°C) - 18.5 19.0 17.8 17.2 18.5
AR - - e B3 e 5, e 5, g 5. dHE B,
S - - 7, a5, (7, 4 {2, HE (5,
o2 SR VN (mg/1) =0.003 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
=T (mg/1) i Ehnsun o & <0.1 <0.1 <0.1 <0.1 <0.1
&y (mg/1) =o0.01 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
X ITRZ=10N (mg/1) =0.05 <0. 02 <0. 02 <0.02 <0.02 <0.02
At & (mg/1) =0.01 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
TR GR (mg/1) =0.0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
7 L LK R (mg/1) M S punZ & - - - - -
PCB (mg/1) B &Snzauv o & <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005
Crma R K (mg/1) =0.02 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
PU ML B 35 (mg/1) =0.002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
VA= R= - SR PR (mg/1) =0.002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
1,2-Yr mnamom X (mg/1) =0.004 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
L,1-Yruaax-F L (mg/1) =o0.1 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
1,2-C 7 oo L (mg/1) =0.04 0. 0004 <0. 0004 <0. 0004 <0. 0004 <0. 0004
1,1,1-F YU Z oo, X - (mg/1) =1 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
1,1,2- UV 7 mwm> X (mg/1) =0.006 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
[N EZA=R=1 -0 o S (mg/1) =o0.01 0. 0004 <0. 0002 <0. 0002 <0. 0002 <0. 0002
T A A =R =1 S (mg/1) =o0.01 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
1,3-Yr oo ro2 (mg/1) =0.002 <0. 0004 <0. 0004 <0. 0004 <0. 0004 <0. 0004
FZ A (mg/1) =0.006 <0. 0006 <0. 0006 <0. 0006 <0. 0006 <0. 0006
D N (mg/1) =0.003 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003
FF R (mg/1) =0.02 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
N (mg/1) =0.01 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
L (mg/1) =0.01 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
A P S R e OV A B a5 SR (mg/1) =10 10 7.2 7.1 4.4 6.3
5o FE (mg/1) =o0.8 <0.08 <0.08 <0.08 <0.08 <0.08
Ee S (mg/1) =1 <0.02 <0. 02 <0.02 <0.02 <0.02
1,4- A %Y > (mg/1) =0.05 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
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